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SUBC | /B (@) (V) “) - (@ (=) x48

111 2| = 7.3 0.2 41.3 35.0 -32.3 130
2 | £ | <y | 125 | -0.9 34.8 31.5 -22.9 413
3 | B M 1.5 4.1 30.6 28.4 ~26.2 106
4 R ] 15.9 | 4.5 34.8 30.8 -21.2 173
5 | &k | <by | 7.4 5.4 35.4 31.6 -23.7 379
6 | K | <ty | 7.3| 3.2 36. 4 33.4 -28.6 230
7 K| @ 58| 1.9 36.6 32.8 -29.2 173
8 | & | -e 7.5 0.3 36.5 32.0 -25.3 322
9 | x| e 52| 2.8 40.9 38.1 -35.7 115
10| B | -e 8.4 | -0.1 43.8 39.3 -32.2 341
1| A S 3.2 1.2 43.5 38.0 ~36.9 53
12 | x| -e 48| -0.6 37.6 33.9 -28.1 278
13 | K& [ <3y | 7.9 -1.1 39.6 36.3 -28.0 398
14 | K| -o 50| 1.8 45.9 41.3 -38.5 134
15 & | = 39| -1.3 47.1 44.6 -41.9 130
16 £ | = 3.8 | -4.0 53.5 49.1 -43.0 293
17 | B [ <3y | 55| -3.8 41.8 37.3 -29.6 370
18 | A - 4.2 | -0.5 41.5 47.4 -47.4 0
19 | &k | - 6.4 | 1.3 39.7 33.6 -23.6 480
20 | x| E 57| -3.1 47.7 41.6 -32.2 451
21 K| = 57| 0.1 52.8 47.7 ~36.5 538
2 & | - 4.4 | -2.8 45.9 39.4 -30.7 418
23 | £ | <sY | 34| -0.9 50.9 43.6 -41.9 82
24 B | -e 3.7 -2.1 46.5 42.6 -33.9 418
25 | H £ 3.0 -2.7 42.2 40.3 -37.1 154
26 | | e 8.4 | 55 48.6 44.2 -29.8 691
27 | K | -e 9.4 | -1.5 38.5 33.7 ~22.2 552
28 | K| - 9.7 1.8 35.2 32.0 -22.5 456
29 | & | E 1.8 1.1 42.8 39.9 -38.6 62
3 | = 2.7 -1.6 52.3 49.6 ~48.1 72
31 | H ES 56 | 1.6 49.1 41.0 -28.4 605
1B&% 1319.8 | 1190.0 BB R0E 8,338

E% : 23,0008 (12ZA14B~TA148%)
%W 9, 7448 (12A14B~1A148%)



